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Coefficients:

Estimate std.

(Intercept) 0.12484

SEBEBBRIBRILY L(d(Ty)) ~ -0.59590
o LCd{Im)) -1. 88783
###Model VECM Tect 0.02313
FHESBERREERRE '

Full sample size: 66 End sample size: 64

Number of wvariables: 2 Number of estimated slope parameters 8

Coefficients:
ATC -742.8729 BIC -723.443 S5R 1.9994499

Estimate
Cointegrating vector (estimated by 20LS5): (Intercept) 0.034926
Ty Tm L{d(Ty)) 0.0354013
rit 1 -0.9765057 L{d(Tm)) 0.235849
Tect 0.017072
ECT Intercept Ty -1 Tm -1
Equation 1y 0.0231(0.0608) 0.1248(0.05397 )% -0.5959(0.1156)**% -1, BB79(1.1373)

Equation Im Q.0171(0.0056)%* 0.0349(0.0055)%*% 0.0540(0.0106)%** 0.2358(0.1042)*

=T

0.05967
0.11556
1.13751
0.06076

std. Error
0. 005467
0.010587
0.104215
0.005567

Error t value Pri=|t|)

2.092 0. 0407
-5.157 2.97e-06
-1.660 0.1022

0,381 0.7048

t value Pri=|t|)
0. 389 2.73e-08
5.102 3.64e-06
2.263 0.02726
3.067 0.00324
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(3) VEC(1)2} VAR(2Z) in level

v =+ 0 +oy+my g — oo+ (G —mBIm_ y —Bim; o + Uy

m. :.Uf:‘_[’}j_TL_E]L’f—:[_’}'13'1&—2_[l_dl_T‘_Tﬁ]mt—l_dlmt—f_?‘:m

@ & in level

= predict(VECM.res, n.ahead=10)
Ty Tm
a7 10.54358 11. 54094
68 10.58219 11.57194
69 10.60891 11. 60400
70 10.64058 11.63360
71 10.67020 11.66737
72 10.70068 11. 69905
73 10.73082 11.73074
74 10.76112 11.76240
75 10.79136 11.79406
78 10.8216d4 11, 82570

5 FANrS 3 in level

Orthagonal Impulse Respanse from ly Orthagonal Impulse Response from Im
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95 % Bootstrap Cl, 100 runs 95 % Bootstrap Cl, 100 runs
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® X2 ABATEH in level

= Tavd. Ty*100 = Tavd. Tm*100
Ty Tm Ty Tm
[1,] 100.00000 0.000000 [1,] 14.75735 B5.24265
[2,] 97.74044 2.2395564 [2,] 44.44639 35.535361
[3,] 97.534377 2.434233 [3,] 4B.06126 51.93874
[4,] 96.99066 3.009336 [4,] 52.81563 47.18437
[5,] 96.7755% 3.224411 [5,] 56.41974 43.58026
[6,] 96.56470 3.435298 [6,] 59.85231 40.14769
[7,] 96.43320 3.35364796 [7,] 62.94138 37.03862
[B,] 96.33213 3.667833 [B,] 65.79670 34.20330
[9,] 96.253953 3.740475 [9,] 6B.41512 31.58488
[10,] 96.20303 3.794973 [10,] 70.82237 29.17763
[11,] 96.16394 3.834062 [11,] 73.03097 26.96903
[12,] 96.13808 3.861916 [12,] 75.05636 24.94364
[13,] 96.11929% 3.880713 [13,] 76.91200 23.08800
[14,] 96.10758 3.892420 [14,] 78.61123 21.38877
[15,] 96.10160 3.898402 [15,] B80.166358 19.83342
[16,] 96.10023 3.899767 [16,] 81.358998 18.41002



(chap10-R-1.R)

library(tseries)

vars)
dynim)
urca)
tsDyn)

library
library
library
library

—_~ o~ o~ —~

sample1<—("http://kanggc.iptime.org/book/data/korea(77-93).txt")
sample1_dat<-read.delim(sample1,header=T)

gnp<-ts(samplel_dat$gnp, start=c(1977,1), frequency=4)
m2<—ts(samplel_dat$m?2, start=c(1977,1), frequency=4)

n<-length(gnp)

ly<-log(gnp)
Im<-log(m?2)

dy=diff(ly)
dm=diff(Im)

lyIm<—data.frame(ly, Im)
dydm<-data.frame(dy, dm)

VAR.res<-VAR(dydm, type="const", lag=1)
summary(VAR.res)



(A=)

Im.res<—-Im(ly~Im-1)
summary(Im.res)

summary(ur.df(Im.res$resid, type="none", selectlags = c("AIC")))

ect<-resid(lm.res)
lect<—ect[1:n—1]

summary(dynim(d(ly)~L(d(ly))+L(d(Im))+lect))
summary(dynim(d(Im)~L(d(ly))+L(d(Im))+lect))

VECM.res<-VECM(lylm, lag=1, include=c("const"), estim="20LS")
summary(VECM.res)

ly.irf <= irf(VECM.res, impulse="ly", response = c("ly", "Im"), n.ahead = 16, boot = TRUE)
plot(ly.irf)

Im.irf <= irf(VECM.res, impulse="Im", response = c("ly", "Im"), n.ahead = 16, boot = TRUE)
plot(lm.irf)

fevd.ly <- fevd(VECM.res, n.ahead = 16)3ly
fevd.ly*100

fevd.lIm <- fevd(VECM.res, n.ahead = 16)$Im
fevd.Im*100



